Test 1 Review

Math 141 Fall 2017

1. Find the instantaneous rate of change of f(z) = 22 + 10z at z = 3
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2. Find the instantaneous rate of change of f(z) =z atz =1
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3. Find the instantaneous rate of change of f(z) =z®+z at x =0
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Test 1 Review Math 141 Fall 2017

4. How often is the following statement true:

Whether or not li_gn f(z) exists depends on how f(a) is defined.
T—a
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5. There are 1261 people in a theater for a play. Does this mean that at some point there were exactly
1000 people in the theater? Explain your thinking.
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